0
010000 [00](2006/06/15)

0. 0
gobbobooobbogoogd

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

(5,2), 3z —3y=>5

(—3,4), 4dx+3y= -2

(=2,2), z4+2y=-1

(=2,0), z=0

(—4,-1), 2z+y=-5

(=5,0), bz + 2y = —5

(1,5), x—5y=—3

1
(74)7 .Qf—y:O

(_57_3)7 x—i_y:?)

(—5,0), 3x+y=4

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

(2,4), ©—5y=>5

(—=2,—4), =z+5y=-2

(1,1), bx—4y= -5

(3,2), 4z —3y=—4

(4,-3), 4y =3

(=5,2), 20 —y=0

(3,0), x+5y=—4

(_374)7 r+3y= -2

(1,3), bx+2y= -5

(—4,-3), 3z —3y=4



00 10000 [00](2006/06/15)

Al

A2

A3

A4

A5

A6

A7

A8

A9

A10

(G201 \)

20v/29
29

21/26
26

112

19410
10

A1l

A2

A.13

A14

A15

A.16

A7

A.18

A19

A.20

23v/26
26

1026
13

6v/41
41

1245

726
26

1110
10

1629
29




